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FEEENOERERAEOHRE—E
BAEEME: FR23%E5H26H

EREIRER(uSv. h)
No.| mitet: BENRERA b UG- ’;i%%m%g'i’fb % X
1m [50cm| 1m [50ecm| 1m [50cm
1| BB [BRILTHIIERILEE — AR 10:28 0.6 0.6 0.2 0.1 0.1 0.1 &
2 | BT [EUbR—ILHHE 11:08 1.2 1.2 0.6 0.6 04 04 3
3 | Bl BRI E/NER 12:03 1.2 14 0.2 0.1 0.1 0.1 £
4 | LT | BB SLARILE — R 13:24 1.1 1.3 0.2 0.2 0.1 0.1 2
5 | BBt |EBILLIFTIIARILEE = R 14:26 14 1.6 0.2 0.1 0.1 0.1 2
6 | AE™ |REHILABIINER 11:53 1.2 14 0.2 0.2 0.1 0.1 £
7| AEW |[AEERREMH 10:51 0.6 0.7 05 0.4 0.3 03 &
8 | AE™ |AEMILMEHHER 13:30 1.1 1.0 05 04 04 04 b
9 | AEW |REHILME/NER 13:53 1.2 1.3 0.2 0.2 0.1 0.1 £
10 | ZRWH | AR LA HHHE 14:23 038 038 0.4 03 0.2 0.2 £
11| ST | AT IR FH/NER 14:55 13 15 0.4 0.2 0.1 0.1 2
12 | ZARWT [ ZARTLET/NER 11:42 0.4 0.4 0.2 0.2 0.1 0.1 &
13 | ZARWH|EONEREM 13:00 0.7 0.7 0.4 0.3 0.2 0.2 &
14 | ZARWAT | RN A H/NERR 11:01 0.6 05 0.3 0.2 0.1 0.1 &
15 | Z AT [ AR ZAHHE 10:35 0.4 0.4 0.2 0.2 0.1 0.1 &
16 | ZAWH | AR L ZARE ZFER | 13:35 14 16 05 0.5 0.2 0.2 2
17 | Z AT [ AT L/INVER R 14:17 1.1 1.3 05 04 0.2 0.1 &
18 | BE™ [({BEMILTIIE/NER 11:13 2.0 2.2 0.7 0.6 0.2 0.2 &
19 | BE™ [BEMIRKARNER 12:02 14 16 0.2 0.2 0.2 0.1 &
20 | BB™ |BEHILERA/NER 12:50 1.3 1.3 04 0.4 0.1 0.1 &
21 | BE™ |BETILKR/NER 15:20 22 24 0.4 04 0.3 03 b
22 | BHEM |FHEHIL/NENER 11:21 1.7 2.1 0.7 0.6 0.3 0.2 b
23 | HET (EHYHE 13:13 1.2 1.5 0.4 03 0.2 0.2 b
24 | HE™ |EFPER 13:58 2.0 2.1 04 0.3 0.2 0.2 2
25 | HE™ |EEF/NER 13:38 1.2 15 04 0.4 0.2 0.1 £
26 | {BE™ |BESHILEL/NER 11:03 15 1.1 03 0.2 0.2 0.2 &
27 | &BEB™ |BEL=ERER 11:37 18 1.8 0.6 0.5 0.3 0.2 &
28 | BE™ (ZEYHE 12:00 16 1.7 0.7 0.6 0.5 04 &
29 | BHEM |FHENLER/NER 13:24 18 2.0 04 0.2 0.2 0.2 &
30 | BEET |BETIULESEREZK 15:08 0.8 0.8 0.4 0.2 0.2 0.2 &
31 | #BBW |EURERT 14:17 08 0.9 0.6 0.4 0.2 0.2 &
32 | BE™ |BEHILHIL/NER 13:42 15 18 04 0.2 0.1 0.1 &
33 | BE™ |BENILERPER 12:03 14 14 03 0.2 0.2 0.1 &
34 | BET |BETLTEHHER 11:20 08 0.9 0.3 0.3 0.1 0.1 &




ZRERER(uSv. h)

No Pz | BIEMSHRE | DB | REATHE [20y-rse ;f%mtmifb R
1m |50em| 1m [B50ecm| 1m |50em
35 | ERM |EETILREEEZ PR 14:59 1.1 1.1 05 03 0.1 0.1 =S
36 | EBRM |[EEXRFAEHHE 14:07 0.7 0.8 0.3 0.3 0.2 0.2 4
37 | BB [EEXZHERER 15:50 - 10 | 12 [ 06 | 04 | o1 | o1 [REAEEEEO) gy
38 | BBRW |EEMBERER 11:13 1.1 1.1 0.2 0.1 0.1 0.1 i
39 | EBRW |EETILEEPFR 12:20 0.9 1.1 0.2 0.1 0.1 0.1 4
40 | EBT |EETILREE PR 13:21 1.0 1.2 0.5 04 0.1 0.1 4
41| ERT |EETIREE=/IER 13:44 15 14 03 0.2 0.2 0.2 =S
42 | EBT |EETILREEZ/IER 15:01 1.6 15 04 0.2 0.2 0.2 £
43 | BEH |HOBEFEIHE 1416 22 | 26 el I
44 | BEW |ROEBER/NER 14:26 13 13 0.6 0.3 0.2 0.1 2
45 | EBM |BEXRFABENEK 15:28 15 1.7 0.4 0.2 0.1 0.1 2
46 | EBRT |EERITFR 16:06 0.7 0.8 0.4 0.3 0.2 0.2 2
47 | BRW |BEFREMR 11:03 1.9 1.9 1.0 0.8 0.6 0.5 4
48 | BE™ |CELOVA ZHFED 11:28 1.1 1.1 0.9 0.8 0.7 06 |2ZHEDHAIE i
49 | EBRW |RETILEFPFEK 13:39 0.9 0.8 0.5 0.2 0.2 02 |1HEDHAIE 4
50 | BB (RETILEMYHHE 15:17 1.9 1.8 i
51 | BEW [KoREE 12:02 1.1 12 0.2 0.2 0.1 0.1 &
52 | BB (RS TILER/NER 16:45 1.7 2.1 0.3 0.2 0.2 0.1 2
53 | BT [REEK 12:12 1.3 1.4 03 0.2 0.2 0.1 LT
54 | {EET (HEEK 11:46 15 15 0.2 0.1 0.1 0.1 i
55 | {BET [HE 11:03 1.6 1.7 0.5 04 0.2 0.1 i
56 | EM |BILCELOMRELE 12:25 2.9 30 0.7 0.6 05 05 |1HEDHAIE :
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FEEENOERERAEOHRE—E
AEEHA: FR23E6H28

ERRER(uSv./h)
No.| Azt BERRLRS b 2o~ RpiE ’;i%%m%g'i’fb W x5
1m [50cm| 1m [50em| 1m [50em
1| BB [BRILTHIIERILEE — AR 10:21 05 05 0.1 0.1 0.1 0.1 £
2 | BT |[EUMR—ILSHE 11:10 1.1 1.2 0.6 05 04 04 2
3 | Bl BRI E/NER 11:53 1.0 1.3 0.2 0.1 0.1 0.1 2
4 | LT | BB SLARILE — R 12:45 1.3 1.2 0.2 0.1 0.1 0.1 2
5 | Al [BBILTIIIERILEE = ek 13:45 13 15 0.2 0.1 0.1 0.1 M
6 | AE™ |REHILABIINER 10:33 14 14 0.2 0.1 0.1 0.1 2
7| AEW |[AEERREMH 11:32 0.6 0.6 05 0.4 0.4 03 2
8 | AE™ |AEMILMEHHER 12:51 1.0 0.9 05 04 04 04 2
9 | AE™ |AEHLME/NER 13:37 0.9 1.0 0.2 0.2 0.1 0.1 2
10 | ZRWH | AR LA HHHE 14:32 0.7 0.9 04 03 0.2 0.2 2
1| 2R [ AT R F/NER 15:22 1.4 15 04 0.2 0.2 0.1 2
12 | ZARWT [ ZARTLET/NER 10:48 04 04 0.2 0.1 0.1 0.1 2
13 | ZARWH|EONEREM 11:36 0.6 0.7 0.3 03 0.2 0.2 2
14 | ZARWAT | RN A H/NERR 13:15 0.7 0.6 03 0.2 0.1 0.1 2
15 | Z AT [ AR ZAHHE 13:51 04 04 0.2 0.2 0.1 0.1 2
16 | Z AT [ Z AT~ ANMEZHRFHK | 1533 13 15 0.5 0.5 0.2 0.2 2
17 | Z AT [ AT L/INVER R 14:49 1.2 1.3 05 04 0.2 0.1 2
18 | 25 (@S ™I TFIIE/NER 13:31 18 1.9 0.6 05 0.2 0.2 £
19 | BE™ [BEMIRKARNER 12:13 1.2 14 0.2 0.2 0.1 0.1 £
20 | BB™ |BEHILERA/NER 11:08 1.2 1.2 04 03 0.1 0.1 £
21 | BE™ |BETILKR/NER 11:15 2.1 2.3 05 03 03 0.2 £
22 | fFEM |[FEHIL/DE/NFR 12:10 1.9 2.2 08 0.7 0.2 0.2 £
23 | HET (EHYHE 14:12 1.3 1.6 05 0.4 0.2 0.2 2
24 | HE™ |EFPER 15:10 1.9 2.1 05 0.4 0.2 0.1 £
25 | HEM |EBH/INFEKR 14:45 13 1.6 0.5 0.4 0.2 0.2 2
26 | {BE™ |BESHILEL/NER 11:10 0.6 0.6 0.2 0.1 0.1 0.1 £
27 | &BEB™ |BEL=ERER 12:08 14 14 05 05 03 0.2 £
28 | BE™ (ZEYHE 12:47 1.3 15 0.6 05 0.4 03 £
29 | BHEM |FHENLER/NER 13:50 15 15 03 0.2 0.2 0.2 £
30 | BEET |BETIULESEREZK 14:29 0.8 0.8 0.4 0.3 0.2 0.2 2
31 | #BBW |EURERT 13:42 08 1.0 03 0.2 0.1 0.1 2
32 | BE™ |BEHILHIL/NER 12:57 1.3 15 03 0.2 0.1 0.1 2
33 | BE™ |BENILERPER 12:05 1.3 14 03 0.1 0.1 0.1 2
34 | BET |BETLTEHHER 11:19 08 0.9 03 03 0.1 0.1 2




ZRERER(uSv. h)

No Pz | BIEMSHRE | DB | REATHE [20y-rse $1?%W$ﬁ1ift\ wE | =&
1m |50em| 1m [B50ecm| 1m |50em
35 | BE™ |BENULESE_FFER 11:12 2.0 2.1 0.7 03 0.2 0.1 £
36 | BET |BEREMEHHE 11:55 05 05 03 03 0.2 0.2 2
37| BET [EEXEHERER 12:26 - 10 | 12 | 02 | o1 01 | o1 [BEAZEMTO) &
38 | BE™ |BERERER 13:50 1.0 1.1 0.2 0.1 0.1 0.1 2
39 | EBRW |EETILEEPFR 14:34 0.9 1.0 0.2 0.1 0.1 0.1 4
40 | 2ET |BETULESE—FEK 15:11 1.1 1.3 05 05 0.1 0.1 £
41 | BET |BENULESEZ/IER 12:10 15 1.3 0.3 0.2 0.2 0.2 2
42 | EBT |EETILREEZ/IER 14:00 1.6 15 0.4 0.2 0.2 0.2 2
43 | EET (HOEBFREYHE 13:30 22 | 25 Pl B
44 | BET |BROEBFR/NER 13:15 1.2 1.2 0.6 0.2 0.2 0.1 B
45 | BET |BERZEMBR/NER 14:34 15 18 04 03 0.1 0.1 2
46 | EBRT |EERITFR 15:51 0.8 0.8 0.4 0.3 0.2 0.2 2
47 | BEB™ [EMREM 11:00 05 05 05 05 05 0.4 £
48 | BE™ |CELOVZ ZoFD 11:31 1.2 1.2 0.9 0.8 0.7 05 |2HEDHAIE £
49 | BE™ [{BEHILEF TR 12:10 08 0.7 03 0.1 0.2 0.1 £
50 | EE™ |[EETILEFHHER 14:26 0.6 0.6 0.4 0.4 0.4 0.4 2
51 | BT |SKOREE 13:34 1.2 1.3 0.2 03 0.1 0.1 2
52 | B2B™ |BEMILER/NER 15:19 16 1.9 0.2 0.1 0.1 0.1 £
53 | /ST |REEK 11:12 1.3 1.2 0.3 0.2 0.2 0.2 2
54 | {EET (HEEK 13:25 14 15 0.2 0.1 0.1 0.1 i
55 | EE™ |BEk 15:17 16 15 05 0.4 0.2 0.1 2
56 | fREM |BILCELONIRERE 16:26 30 32 0.7 05 0.6 05 [1HEDOHBIE £
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